\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1544\D. RWBC Drawings\Texas 2013\TX-4306.dwg, TX-4306

AFCO Millwork Products

‘ 11000 Green Valley Dr.
Olive Branch, MS 38654

1.
d
¢

Opaque "Impact"’ Steel Doors
w/ or w/o
"Non-Impact" Sidelites
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Door System described herein complies with the 2006 International Residential Code (IRC),
Sections R301 & R613 and the 2006 International Building Code (IBC), Sections 1405.12, 1609,
1714.5, 2403 and 2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection, the opaque doors do not
require impact protection while the sidelites are required to be protected with an impact
resistant covering that complies with Section R301.2.1.2 of the IRC and Section 1609.1.2 of
the IBC.

3. Allowable design pressure requirements must be equal fo or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details

Sidelite panel details and glazing detail

Elevations

Horizontal cross section

Vertical cross sections

Vertical cross sections

Frame anchoring

Astragal details

Bili of materials and components

olvelo|Njonju|a|w|vd]—

—

82.12" MAX. O.A. FRAME HEIGHT
- INSWING -

S

1Y
~

SNV

"
o
[>4

1E.Q

<hl

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

105.62" MAX. OVERALL

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

FRAME WIDTH
74.62" MAX.
FRAME WIDTH
74.62" MAX. OVERALL 15.5" MAX.
FRAME WIDTH FRAME WIDTH
= | EE|BEE 1w v
E 1
<3 || &= &= =y =l = =
o_g X E X X E X
> & — — = = — I — 1
)

STEEL DOOR

PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

REVISIONS

NO.| DATE

oaTE: 2/18/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

74.62" x 82.12" INSWING +50.0 -55.0
XX N/A
74.62" x 81.18" OUTSWING +50.0 -50.0
105.62" x 82.12" INSWING +50.0 -55.0
OXXO 6.00" x 63.00"
105.62" x 81.18" OUTSWING +50.0 -50.0

DRAWING NO.:
TX—-4306

sHEeT ]

oF 10

© 2013 R.W. BUILDING CONSULTANTS INC.



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1544\D. RWBC Drawings\Texas 2013\TX-4306.dwg, 2.2

EXTERIOR

— 17"

L

HINGE STILE
(WOOD)

36" DOOR
WIDTH

D

LOCK BLOCK
12.5" LONG

26"

1.25"

(WOOD) ™\

TOP RAIL
(WOOD)

0.84"

AN

INTERIOR

m HORIZONTAL CROSS SECTION

\2/

79.25" DOOR HEIGHT

ep)

DOOR PANEL
Therma-Tru "Profiles" Series

! r 55
-

38.25"

<
—— DEADBOLT: SEE TABLE
\f PASSAGE LOCK: SEE TABLE

LATCH STILE
(WOOD)

SCHLAGE

KNOB:

DEADBOLT:

"F" SERIES (F10)
"B" SERIES (B60/62)

STEEL SKIN
(0.017" MIN. THK.) \

EXTERIOR

INTERIOR

FOAM CORE
(POLYURETHANE -
1.9 PCF MIN.)

N

BOTTOM RAIL
(COMP.)

/“ 2"\ VERTICAL CROSS SECTION

{%’1’{27
Tl
&y 2

ALY
TEOF ph

T
Bt

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

\2/

P.0. Box 230 Valrico FL. 33595

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

STEEL DOOR
PART OR ASSEMBLY:
DOOR PANEL DETAILS

PRODUCT:

NO) DATE

REVISIONS

oATE: 2/18/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4306

SHEET _2 oF 10

© 2013 R.W. BUILDING CONSULTANTS INC.




\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1544\D. RWBC Drawings\Texas 2013\TX-4306.dwg, 3.2

0.73"

-~— 17" —

STILE (WOOD)

14" PANEL _
WIDTH
6" MAX. % o
D.L.O. 1 E
Q
< P
z
2dJ
1R
ya =
/ -
T
2 o
= 38 )
[N
2 < O
£ 3 1
n = \v4
33 3/
N
I\
\—#SXH/Q"
PPH SCREW
(TYP.)

7,
SIDELITE PANEL
Therma-Tru "Profiles” Series

\

Gl
EXTERIOR

/]

INTERIOR

71"\ HORIZONTAL CROSS SECTION

3/

1/2" GLASS BITE —=| |=—  EXTERIOR
SILICONE
—1/2" MIN.
SILICONE GLASS THK.

ALUMINUM SPACER

#8 X 1-1/2" PPH SCREW

INTERIOR

0.89"

1.45" *’
INTERIOR LITE FRAME EXTERIOR LITE FRAME
3A BTS 38 BTS

L— 0.64"

.

STILE (WOOD)

/— 1/8" TEMPERED
AIR SPACE
\ 1/8" TEMPERED

[N
o
s 0
TOP RAIL €2 2 B3
(COMP.) : By ¢B &
I an- Z oINS Lzulh
i 9 gEZ =
¥ 8% £s2 22
., 0 SF 5Tua 22
‘ T g3d fig
0 PR Zowm
w SOREANE. 5 8R° g
- o g 52 w &
&N ® 50e¢ Of
0 9 9 . ¢ Qo
o & 502 gp
o 0oao 06
o § mE
5 gg
E KB4
8
wm
=
2
G5
S =8
S oo
S |5 22
o |
P 3 |3 L
1 I 17 =
< -
INTERIOR EXTERIOR o v 8%
" é’ o] »h
/i S ke
0. [N
>_
om
[7p]
C &
STEEL SKIN o %)
{0.019" MIN. THK.) o >
FOAM CORE o
(POLYURETHANE - L
19pPCEMINg
<
[
o = (@)
BOTTOM RAIL o S oate: 2/18/13
(COMP.) \ o scate:  N.T.S.
% DWG. BY: JK
CHK. BY: LFS
/"2 "\ VERTICAL CROSS SECTION BRAWING NO-
3 TX—4306

SHEET _3 ofF 10

© 2013 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOD aNiaing "m's 102 ©

ZG8L1—d4 # NOUVNLSIOIN 40 31VDIJILNID 5 SNOISIAIY EIT N
SHIINION3 TVNOISS3JONd 40 ONVOE SvXIl SNOLYATT3 a [o ) slxlo| o o
L61LB'6S9'ELB "ON Suoyd : Nl RPlSl Qe
S6SEC "1d OSUIDA 0£Z Xo8 ‘O'd \Sv@. AIBNISSY HO Livd Dz & 31°
*ONI "SINVLINSNOD OSNIqINg N NEREIN 4_

d400a 1331S o~ £sle X

£ZI¥0L# 3'd SvXaL A =N RN I z &
"3'd WPIUYSS ‘4 UOpukl  :Ag peupdesd sjyuswinoog 110NA0Yd S|1813|35]8 &

SIETOREIN

aagaods

J

ELEVATION {OXXO)

ELEVATION (XX)

¥ PMPI0EL-XI\ETOZ SEXSL\SBUIMEIQ DMY ‘G\PYST 4d\000T - T0ST 10J0\SIoPIO3 19910INSIH0Id - VADBMENENZSTS\\



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1544\D. RWBC Drawings\Texas 2013\TX-4306.dwg, 5.2

INTERIOR

A\

oy (0 EXTERIOR
v
EXT. SHEATHING& é ’I «é’s',ﬁK

1"\ HORIZONTAL CROSS SECTION
W Inswing shown - Qutswing also approved

INTERIOR

EXTERIOR

m HORIZONTAL CROSS SECTION

\\y Inswing shown - Outswing also approved

1/

DRYWALL
_\ SEE NOTE |
el T T SEE NOTE | @
/ LAY

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

M

Note:

1. Sidelite assembly screws located
6" from each end plus 4 more
equally spaced (6 total).

/"2 "\ HORIZONTAL CROSS SECTION

W Inswing shown - Outswing also approved

//

(29) DRYWALL

@ 9

—— Y
% e

N N
> = -

@ \— EXT. SHEATHING
015" __|

C'SINK

4\ HORIZONTAL CROSS SECTION
\5/ Inswing shown - Outswing also approved

P.O. Box 230 Valirico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEEL DOOR
HORIZONTAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

NOJ| DATE

REVISIONS

oAaTE: 2/18/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4306

SHEET _5 oF 10

© 2013 R.W. BUILDING CONSULTANTS INC.



TONI SLNVLATINSNGOD aNIaTINg *Md ELOZ §

ZSBLL—d4 # NOLVMISIONN 40 ILVOLIILN3D SNOISIAFY i
SYIINIONI IWNOISSIH0Nd 40 GY¥V08 SvXaL SNOILO3S SSO¥D TWOLLYIA A8 31vd [ON

LB16°6S9°C1l8 :"ON euoyd -
S6SEC "4 OSUIDA OFZ Xog ‘O°'d \Sv@ XI8N3SSY 40 Lavd
*ONI ‘SINVLIINSNOD SONIdINg
4004 13318

J

JK
LFS

L
o

N.T.S.

©

TX—-4306

€ZLPOL# '3'd SwxalL
‘F'd ‘WPIWYSS 4 uopukl  :Ag peupdeid sjuswnooq 110NA0Y¥d

oate: 2/18/13

SCALE:

DWG. BY:
CHK. BY:
DRAWING NO.:
SHEET

»

ﬁ,mm@ 4

b, T 0 ALY

¥

-

?4.3, R
LR

0 WOOD
o CONCRETE

7

\\.\‘\:,\\\\.:\\::3"

INTERIOR

\\

/3 "\ VERTICAL CROSS SECTION

W Outswing Sill

ANIS.O
S0

?

EXT. SHEATHING

EXTERIOR
O

m VERTICAL CROSS SECTION
w Inswing shown - Outswing also approved

e
DRYWALL\ e

INTERIOR
1

EXTERIOR

m VERTICAL CROSS SECTION

\U Inswing Sill

A\

INTERIOR
WOOD
CONCRETE

7’9 'BMP90EY-X1\ETOZ Sexal\sbuimeiq DAMY "A\rbST 4d\009T - TOST foud\siapjo4 198[0.d\s1301d - VADIMUNEAZSAS\\



INTERIOR

SEENOTE 1

//

A\

DRYWALL—_ [+ Il

\
/
N &

g

EXT. SHEATHING

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

Note:

()

INTERIOR EXTERIOR

/ 1"\ VERTICAL CROSS SECTION
\7_/ Inswing shown - Outswing also approved

EXTERIOR

J ) WOOD
P ) CONCRETE

/"2"\ VERTICAL CROSS SECTION

W Inswing configuration

————

0.15"
C'SINK

SEE NOTE | @\ \
EXTERIOR / INTERIOR

/“ 3"\ VERTICAL CROSS SECTION

\Z/ Outswing configuration

1. Sidelite assembly screws located
3" from each end (2 total).

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEEL DOOR
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NOJ| DATE

oATE: 2/18/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4306

SHEET _7 oF 10

\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1544\D. RWBC Drawings\Texas 2013\TX-4306.dwg, 7.2

© 2013 R.W. BUILDING CONSULTANTS INC.



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1544\D. RWBC Drawings\Texas 2013\TX-4306.dwg, 8.2

11.25"
7
1l

O |
77

]<-—— 29.25" ——-|<—— 29.25"
O |
&=

HINGE JAMB

7||

&

(TYP.)

3
(TYP.)

e

|ee——

\ n — 3u —
—] r 7"
] T8 1 ]
\ SEE DETALL 1
~ TYP.HEAD
& JAMBS \
_ ASTRAGAL
SHOWN FOR
REFERENCE
ONLY
T SEEDETALL2
11 1147
FRAME ANCHORING

FLOOR SUBSTRATE MATERIAL
CONCRETE {MIN. 3000 PSl)
WOOD (8.G. >=0.42)

CONCRETE ANCHOR NOTES:

XX

—

6"

(TYP.)

14" MAX.
0.C.(TYP)

1. Concrefe anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

EDGE
ITw " " i} "
ELCO " i " i}
ULTRACON®| 1/4 1-3/4 1 3

71
aq
£, g
2X FRAMING TO BE DESIGNED BY THE £+ 2 u@
ENGINEER OR ARCHITECT OF RECORD 3 “w ogn 2l
BASED ON WIND LOADS AND THE ¢ ) - Yy 4B9 a
CLADDING BEING USED. 1 ' 3 83 g 8 % 3
| ¥~ = (1) 5° 538 age
7" |t— |et— a > :-) QE
*] (vp) *] . &g® 5B
L 3 a o ‘: g gﬁ
1|1 TR T T[T 1 3 3 %82.,'616-
—~ M — |/ g 3455 0
I SEE DETAIL 1 £ R3E 2K
— @
- | __“f : = 9k
2X TYP. HEAD N\ AsTR £ & &8
FRAMING & JAMBS STRAGAL 8
) SHOWN FOR SEE ASTRAGAL
poorRA|l| = REFERENCE H = || —F DETAILS (Sheet 9)
FRAME ONLY —
TYP. o
_ Il _|| & 3 2
O x x
°©  n S| g
(1) woop o S EE
a— L 1 — d g <
L Ly
(P) CONCRETE || e peran 2 EE
/ o 4B
— ra L — 8 g
-"L—_—‘—U‘- ] L '-:%& || § g
%2222; Q. o
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING ASTRAGAL STRIKE
CONCRETE {MIN. 3000 PSI) OXXO
WOOD (5.G. >= 0.42)
/
11 @
=z
e 9
3 2
N
7
HINGE DETAIL
Ll
<
[m]
o-
=z
oate: 2/18/13
S [\f‘\ :]‘\ ~ T“““—"m\ =~ J SCALE:  N.T.S.
o\ ~ DWG. BY: JK
| ® =2 é cHk. BY:  LFS
DETAIL 1 DETAIL 2 DETAIL 2 DRAWING NO:
Outswing 3/8" dia. hole Inswing TX=4306

SHEET _8 oF 10

© 2013 R.W. BUILDING CONSULTANTS INC.



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1544\D. RWBC Drawings\Texas 2013\TX-4306.dwg, 9.2

A-A

#10x 2" FH <
wooD scRew ||

DEAD BOLT
STRIKE PLATE

/|

LATCH STRIKE
PLATE

#10x 2" FH< |
wooD ScREW N

B-B

23u

#10x 1-1/2" PH WOOD
SCREW (TYP. 7 PLCS.)

15.04"

23n

ASTRAGAL DETAILS

SLIDE BOLT ROD

DEAD BOLT
STRKEPLATE

SECTION A-A
Astragal Assembly

0.05"

275"

i

— 146" L—

44 ASTRAGAL by AFCO

1.75"

Aluminum
BOLT RETAINER #10x 1-1/2" PH SMS
#10x 2"FH
WOOD SCREW
ASTRAGAL ASTRAGAL

_SECTION B-B _
Astragal Assembly

LATCH & DEAD BOLT DETAIL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

375" ——I l—<——

10.75"

12.63"

SLIDE BOLT ASSEMBLY

Aluminum

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

STEEL DOOR
ASTRAGAL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ| DATE

REVISIONS

oaTE: 2/18/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4306

SHEET _9 oF 10

@ 2013 R.W. BUILDING CONSULTANTS INC.



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1501 - 1600\PF 1544\D. RWBC Drawings\Texas 2013\TX-4306.dwg, 10.2

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
B 2X BUCK (SG >=0.42) WwOOD
C 1/4" MAX. SHIM SPACE -
F #10 X 3" PFH WOOD SCREW STEEL
J #10 X 2-1/2" PFH WOOD SCREW STEEL
M #10 X 2" PFH WOOD SCREW STEEL
P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
1 JAMB - FINGER JOINTED PINE WOOD
7 WEATHERSTRIP (Long Reach by Therma-Tru) FOAM
8 SWEEP VINYL
9 WEATHERSTRIP (Medium Reach by Therma-Tru) FOAM
11 INSWING THRESHOLD ALUM/COMP
12 OUTSWING THRESHOLD ALUM/COMP
13 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
14 OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
23 #10 X 1-1/2" PH SMS STEEL
24 #10 x 1" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
26 ASTRAGAL STRIKE PLATE STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
40 DOOR PANEL -
44 ASTRAGAL (AFCOQ) ALUM
50 SIDELITE PANEL -

1.25"

— 5.62" =

1 INSWING THRESHOLD
AFCO A-280

L—— 4.58"

12 OUTSWING THRESHOLD

AFCO A-117

0.95"

4.56" '
-]

N

0.75"

|
i
!

WEATHERSTRIP
Long Reach

N
N

=00

#
22 —-IT
@ WOOD JAMB

0.74"
1.08"

< : ) WEATHERSTRIP
Medium Reach

«—2.19"—~}

5.83" -

13 INSWING THRESHOLD w/ SIDELITE ADAPTER
Therma-Tru

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

5.83"

14 OUTSWING THRESHOLD w/ SIDELITE ADAPTER

Therma-Tru

%
)
ac 31’2
o (V]
o =
Qo . "Q
>_ <
= |3 =%
H OIS wd
~ w] QO
5 |4
< o
b x| @
Cé o
o ke
& <
o o
>
)
%)
z
-
2]
>
W
e
o
<
e
o
z
oatE: 2/18/13
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4306

sHEeT 10 oF 10

© 2013 R.W. BUILDING CONSULTANTS INC.



